Do R EREIV(2008)

5 2 I

19 4| (8, 23~23) =1 (8, 23)

23 7| (8, 16) =1 (8, 27)

% B==XEn S==2mn

20] THB52E1E S iiEi0e

40| THhs3|12m = (11D

42| 14 - 17|5E20K = |21

50| TS |ER =T

58 1|5Ga = |NEa

S8 FrB 121 e

20 ol&E S =g

73 41BH = | DH\H

73| FhB2|ERE S [EWE

82 6|2E82[X = 541K

82 9| (3~4, 6~7) =| (3~4, 5~6)
89 2| (4-26~23) =1 (4-26~33)
100 4| (8~10, 8-9) =|(8-9, 8~10)
100 41 (67, 4-5) =| (67, 4~6)
101 szz BEE = |memEn
102] THh5 BEEn S [EEREn
11| THh5BE Y

121 77| emus S |epis

210

124] Th5 | RAELN R
124] THh 58| NEFBRE = [EFIB

125 18 |BYRE = |JZRE

31 18l LTo® S Eras

131 19| AT DEDEMMHAZ = |UToED. S
134 16[HXL = [CNSAlED
134 17(HAL = | L TDOREB
136 5B ERE S [EnRERE

2022F3H3B1FRk




